7115 ks

Pressure sensor

RPT8100& 51

BRI T TN, ARAR. 20, SEFIE,

MR, B3, EHENL, KRETE

o MHRERRTE, TEFMIEMCIERE

e BIEME. BFE. RTENH
o WITEE, MiaMER. P
o [P &R OJiAIP67, IP68

* 4 RoHS, CEINIE

o A EHIFLIERAFTIREL S

$M R R =T B Dimensions: mm)

M12X1

10

24

60

G1/4

DIN3869-14-FKM

65.7

19

pCH

(R

RPT8100-&%I £ H{&EE=5

ENERGY
]

AN

RPT8114)
Sup+(1):9.
Out -(3): 4.2
Range: 0.4ty
SN:SR9101ly

M12X1

$ 22,05

21

58.1

22.1

15.5

12
8. 69
2

G1/4

$19

DIN3869-21-FKM



RPT8100-&%I EhfERk==

i KE 3 Technical Parameter

s%
BNEHR
EEE
EHEAN
RRIES
MmO
RN
IrBE Y
T H £
HWHES
HBE

E(35 3

IR
EERE

E 71 EFHRtiE
e iz B (8]
KEIFEE
INEEH

R EAME
TIERE
EFRE

i

3
BitELR
Hit ¥4z
IHEAK
TiERRE
BT
IR
fiif BB R AR 4P

Specifications

Input Data

Measuring ranges

Overload pressures

Burst pressures

Mechanical connection
Torque value

Parts in contact with

Output data

Output signal

Accuracy to DIN

Max.setting

Non-linearity a

To DIN16086

Hysteresis

Repeatability

Rise time

Response time

Long-term drift
Environmental conditions
Compensated temperature range
Operating temperature range
Storage temperature range
Fluid temperature range
EMC Test

Vibration resistance to

DIN EN 60068-2-6 at 10~2000Hz
Impact

Load

Protection class to DIN 40050
Other data

Operational Mode

Operating voltage

Power supply current
Polarity protection

Resistance to voltage

#HAK#5H Technical Data

-1~1...10...16...50...100...250...400...600...1000*...2000*
300%F.S 150%F.S

G1/4-A 7/16-20UNF-2A 1/4-18NPT/NPTF G3/8-A
20N.m 12N.m 40N.m
Mech connection:Stainless steel ~ Seal:FKM 17-4PH
4~20mA 0~5V 1~5V 0~10V 1~10V 0.5~4.5V
< +0.5%F.S trp < +0.25%F.S trp
< +1.0%F.S max < +0.5%F.S max
< +0.3%F.S max < +0.1%F.S max

< +0.1%F.S max

< +0.05%F.S

<1ms

<0.5ms

< +0.1%F.S trp./year

-25~+85C
—-40~+125C
-40~+135TC
-40~+125C

EN 6100-4-2/3/4/5
<209

30g
RL = 5kQ
IP67

4%, FRIE Absolute,Gauge
24VDC(9~32VDC), 5+10%VDC

<10mA
=32VDC =28VDC(5 + 10%VDCHEE [E S RLEE )
protection =50VDC

=28VDC(5 + 10%VDCH:H [E /1 1& RE#F )



1% EIR Model code

RPT81 X X-X-XX-XXXX-X(000)

B S#: 0 Electrical connection
0 =flying lead

1=M12X1 EN60947-5-2
2=3 pole+PE,DIN43650,male
3=Round Packard Metri-Pack
4=HW 090 £ & 3%
5=AMP Superseal 1.5
6=Deutsch DT04-4P
M=% FE #l
H#EO Mechanical connection —
1=7/16-20UNF-2A
2=1/8-27NPT
3=1/4-18NPT
4=G1/4-A DIN3852-E

5=G1/2-A
6=G3/8-A
7=M14X1.5
8=M20X1.5
9=M10X1
M=% F 7E #l
WSS Signal
A=4~20mA,2conductor
B=0~10V,3conductor
C=1~10V,3conductor
D=1~5V,3conductor

E=0~5V,3conductor
F=0.5~4.5,3conductor ( 5+ 0.5V DC{tE
8 E Precision

05=0.5%
02=0.25%

EFEE (bar) Pressure ranges in bar
0001=0~1bar
0050=0~50bar
0400=0~400bar
1000=0~1000bar
( EA3ER -1~2000barm] i )

T{E/A3 Operational Mode
A=4&JE Absolute
G=%JE Gauge

54 Modifcation number
000=FriE#ELk

020=2m Bz ( &%)
050=5m Bz (&)

RPT8100-&%I & /1{ERkzs

JEL F W pin connections:
M12X1 4—pole male

pin RPT81XX-A RPT81XX-B

1 +24\V/DC +24\VDC
2 n.c. 0~10V

3 4~20mA GND

4 n.c. n.c.
Packard

pin RPT81XX-A RPT81XX-B

1 4~20mA GND
2 +24\VDC +24VDC
3 n.c. 0~10VDC




